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Point F is 8m to the east of point D and 12 m to the south of point G. Point G is 4m to the

west of point K. Point O is 6m to the south of point K. Point O is 12m to the east of point R.

point T is 10m to the north of point R. ब िंदु F, ब िंदु D के पूर्व में 8 मीटर और ब िंदु G के दबिण में

12 मीटर है। ब िंदु G, ब िंदु के पबिम में 4 मीटर है K. ब िंदु O, ब िंदु K के 6मी दबिण में है। ब िंदु O, ब िंदु

R के 12मी पूर्व में है। ब िंदु T, ब िंदु R के 10मी उत्तर में है।

76) What is the shortest distance between 

the  point F and K?

a) 4 √10m

b) 5√ 6m

c) 5√10m

d)160m

e)None of these

77) Point R is in which direction with 

respect to  point K?

a)North west

b)South

c)South west

d)North east

e)None of these

78) Find the odd one out

a)CEG

b)FHJ

c)JLN

d)RSU

e)DFH
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41) Statements:

All A1 are A2

Some A3 are not A2  All A2 are A4  

Conclusions:

I)All A4 being A2 is a possibility

II)No A2 being A3 is a possibility

42) Statements:

Some NH1 is a NH2  

Some NH2 are not NH3

All NH3 are NH4

Conclusions:

I)Some NH1 being NH3 is a possibility

II)All NH3 being NH4 is a possibility

43) Statements:

All one are two  

Some two are three  

No three is a four  

Conclusions:

I)All one are three

II)No two being four is a possibility

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

44) Statements:

All set are pair

Some pair are couple  

Some couple are single

Conclusions:

I)All single are pair

II)Some single are not pair

45) Statements:

Some student are teacher  

No teacher are principal

All principal are watchman

Conclusions:

I)Some student are principal

II)All teacher being watchman is a possibility.
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There are eight boxes namely- A1, B1, C1, D2, A2, B2, C3 and D4

are placed one above another. Each box contains different mobile

phones viz. HTC, Apple, Samsung, Microsoft, Lenovo, Sony, Vivo and

Micromax but not necessarily in same order. The number of boxes

above C3 is one less than the number of boxes below it. There

are only two boxes placed between Lenovo and Sony. The box

with Lenovo is placed either immediately above or

immediately below C3. The box with Samsung is placed at one

of the positions above the box with Lenovo. The box with

Samsung is not placed at the topmost position. Number of

boxes placed above the box with Samsung is as same the

number of boxes placed below the box with Microsoft. There

are three boxes between D2 and D4; the box D2 doesn’t have

Samsung and is not placed at the topmost position. The box

D2 is placed above D4. The box A1 contains Apple and is

placed immediately above B2. The C1 box contains Micromax

and is placed at one of the positions above A1 box. The box

with Vivo is placed at either lowermost or topmost position.

The box A2 is placed at one of the positions above the box C3.

The box B1 contains neither Lenovo nor Samsung.

आठ ॉक्सहैं- A1, B1, C1, D2, A2, B2, C3 और D4 एक
दूसरे के ऊपर रखे गए हैं। प्रते्यक  ॉक्समें अलग-अलग
मो ाइलफोन होते हैं। HTC, Apple, Samsung, Microsoft, 
Lenovo, Sony, Vivo और Micromax लेबकनजरूरी नही िं

इसी क्रम में हो िं।

C3 के ऊपर र्ाले  क्सोिंकी सिंख्या उसके नीचे र्ाले  क्सोिं

की सिंख्या से एककम है। लेनोर्ोऔर सोनी के  ीच केर्ल

दो  ॉक्स रखे गए हैं। Lenovo र्ाला  ॉक्सया तो C3 के ठीक

ऊपर या ठीक नीचे रखा गया है। सैमसिंग र्ाला  ॉक्स

लेनोर्ो के  ॉक्स केऊपर बकसी एक स्थान पर रखा गया है।

सैमसिंग र्ाला  ॉक्सस सेऊपरी स्थान पर नही िंरखा गया

है। सैमसिंग के साथ  ॉक्स केऊपर रखे गए  ॉक्सकी

सिंख्या Microsoft के  ॉक्स के नीचे रखे गए  ॉक्सकी सिंख्या

के समान है। D2 और D4 के  ीच तीन  ॉक्सहैं;  ॉक्स D2 में
सैमसिंग नही िं है और इसे स से ऊपरी स्थान पर नही िंरखा

गया है। बिब्बा D2 को D4 के ऊपर रखा गया है।  ॉक्स A1 
में Apple हैऔर इसे B2 के ठीकऊपर रखा गया है। C1
 ॉक्समें माइक्रोमैक्स हैऔर इसे A1  ॉक्स केऊपर बकसी

एक स्थान पर रखा गया है। र्ीर्ो र्ाले  ॉक्सको या तो

स से बनचले या स से ऊपरी स्थान पर रखा गया है।  ॉक्स

A2 को  ॉक्स C3 के ऊपर बकसी एक स्थान पर रखा गया है।

 ॉक्स B1 में न तो लेनोर्ो हैऔर न ही सैमसिंग।
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There are eight boxes namely- A1, B1, C1, D2, A2, B2, C3 and D4

are placed one above another. Each box contains different mobile

phones viz. HTC, Apple, Samsung, Microsoft, Lenovo, Sony, Vivo and

Micromax but not necessarily in same order. The number of boxes

above C3 is one less than the number of boxes below it. There

are only two boxes placed between Lenovo and Sony. The box

with Lenovo is placed either immediately above or

immediately below C3. The box with Samsung is placed at one

of the positions above the box with Lenovo. The box with

Samsung is not placed at the topmost position. Number of

boxes placed above the box with Samsung is as same the

number of boxes placed below the box with Microsoft. There

are three boxes between D2 and D4; the box D2 doesn’t have

Samsung and is not placed at the topmost position. The box

D2 is placed above D4. The box A1 contains Apple and is

placed immediately above B2. The C1 box contains Micromax

and is placed at one of the positions above A1 box. The box

with Vivo is placed at either lowermost or topmost position.

The box A2 is placed at one of the positions above the box C3.

The box B1 contains neither Lenovo nor Samsung.
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46) Which of the following box has Vivo mobiles?

बनम्नबलखखत में से बकस  ॉक्स में र्ीर्ो मो ाइल हैं?

a)Box C3

b)Box B1

c)Box B2

d)Box D4

e)Box A2

47) How many boxes are there between the boxes  

which has Microsoft and Micromax?  क्सोिं के  ीच में

बकतने बिबे्ब हैं बजसके पास माइक्रोसॉफ्टऔर

माइक्रोमैक्स है?

a)One

b)Two

c)Three

d)More than three

e)None

48) Which of the following box is placed fourth  

from the bottom? बनम्नबलखखत में से कौन सा बिब्बा

नीचे से चौथे स्थान पर रखा गया है?

a)Box D2

b)Box B2

c)The box with Apple mobiles

d)The box with Sony mobiles

e)None of these
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49) What is the position of the box which has Sony  mobiles?

सोनी के मो ाइल र्ाले  ॉक्सका स्थानक्या है?

a)Second from the bottom

b)Third from the top

c)Fourth from the bottom

d)Third from the bottom

e)Immediate below C3

50) If the Box C1 is related to Lenovo; Box A1 is related to

Microsoft in a certain way. Then which of the following mobile

does C3 is related to? यबद  ॉक्स C1 लेनोर्ो से सिं िंबित है;  ॉक्स

ए1 एक खास तरह से माइक्रोसॉफ्ट से सिं िंबित है। तो C3

बनम्नबलखखत में से बकस मो ाइल से सिं िंबित है?

a)Sony

b)HTC

c)Micromax

d)Vivo

e)Microsoft
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51) Statements:

Q < D ≤ B ≥ M = N; Y > J = V ≥ H; C > Z ≥ V>D

Conclusions:

I.J > Q

II.M > C

52) Statements:

Y > T ≥ R ≥ E > Q;  W; H < G ≥ E =W < C < X ≤ Z

Conclusions:

I.W < G

II.G = W
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There are eight people namely – P, L, M, O, K,  N, I 

and J sitting in a circular table facing towards the 

centre.  Each  likes  different  fruits  viz.  Mango,

Pineapple, Orange, Banana, Grapes, Guava,

Watermelon and Kiwi. All the information is not 

necessary to be in the same order.

Only one person sits between J and P. P sits third to  

the right of one who likes Orange. The person who  

likes Guava is an immediate neighbour of neither P  

nor J. Only two persons sit between the one who likes  

Guava and I, who likes Grapes. L likes Kiwi and sits  to 

the immediate left of K. K sits to the immediate  left of 

N, who likes Orange.M likes Pineapple and  faces 

opposite to the one who likes Watermelon. The  person 

who likes Mango sits to the immediate right  of I. The 

person who likes Banana is not an immediate

neighbour of the one who likes  Pineapple.

आठव्यखिअथावत् - P, L, M, O, K, N, I और J एक
रृ्त्ताकार मेज पर कें द्र कीओर मुखकरके  ैठे हैं।

प्रते्यकको अलग-अलगफल पसिंद हैं अथावत।आम, 
अनानास, सिंतरा, केला, अिंगूर, अमरूद, तर ूजऔर

कीर्ी। सभी सूचनाओिंका एक ही क्रम में होना

आर्श्यकनही िं है।

J और P के मध्य केर्ल एकव्यखि  ैठा है। P, सिंतरा
पसिंद करने र्ाले के दायें से तीसरे स्थान पर  ैठा है। र्ह

व्यखि बजसे अमरूद पसिंद है र्ह न तो P औरन ही J का
बनकटतम पडोसी है। अमरूद पसिंद करने र्ाले व्यखि

और I, बजसे अिंगूर पसिंद है, के मध्य केर्ल दोव्यखि  ैठे

हैं। L कोकीर्ी पसिंद हैऔर र्ह K के ठीक  ायें  ैठा है।

K, N के ठीक  ायें  ैठा है, बजसे सिंतरा पसिंद है। M को
अनानास पसिंद हैऔर उसका मुख तर ूज पसिंद करने

र्ाले के बर्परीत है।आम पसिंद करने र्ालाव्यखि I के
ठीक दायें  ैठा है। र्हव्यखि बजसे केला पसिंद है र्ह

अनानास पसिंद करने र्ाले का बनकटतम पडोसी नही िं

है।
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There are eight people namely – P, L, M, O, K,  N, I 

and J sitting in a circular table facing towards the 

centre.  Each  likes  different  fruits  viz.  Mango,

Pineapple, Orange, Banana, Grapes, Guava,

Watermelon and Kiwi. All the information is not 

necessary to be in the same order.

Only one person sits between J and P. P sits third to  

the right of one who likes Orange. The person who  

likes Guava is an immediate neighbour of neither P  

nor J. Only two persons sit between the one who likes  

Guava and I, who likes Grapes. L likes Kiwi and sits  to 

the immediate left of K. K sits to the immediate  left of 

N, who likes Orange.M likes Pineapple and  faces 

opposite to the one who likes Watermelon. The  person 

who likes Mango sits to the immediate right  of I. The 

person who likes Banana is not an immediate

neighbour of the one who likes  Pineapple.

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

56) Who sits to the immediate right of P?

P के ठीक दायें कौन  ैठा है?

a)The one who likes Watermelon

b)O

c)L

d)The one who likes Mango

e)None of these

57) How many persons are sitting between M and L, 

when counted from L in anticlockwise direction?

L से र्ामार्तव बदशा में बगनने पर M और L के मध्य बकतने

व्यखि  ैठे हैं?

a)One

b)Three

c)More than three

d)Two

e)None

58) Who among the following likes Guava?

बनम्नबलखखत में से बकसे अमरूद पसिंद है?

a)M

b)J

c)K

d)P

e)L
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59) Which of the following statement is true? बनम्नबलखखत में से

कौन सा कथन सत्य है?

a)N sits to the immediate left of K

b)P and J face each other

c)The one who likes Kiwi sits second to the right of  P

d)None is true

e)All are true

60) Which of the following fruit does O like?

बनम्नबलखखत में से कौन सा फल O को पसिंद है?

a)Kiwi

b)Orange

c)Banana

d)Grapes

e)Pineapple
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i)If the first digit is an even number and the last digit is an odd number, then their codes are to be interchanged.

ii)If the first digit is an odd number and the last digit is an even number then codes of second and fourth digits are

to be interchanged.

iii)If both the first and the last digits are an even

number, then both are to be coded as the code for the first digit.

iv)If both the first and the last digits are an odd number, then both are to be coded as the last digit.

61) What is the code for “17069”?

a)A*H%B

b)B*H%A

c)B*H%B

d)A%H*B

e)None of these
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i)If the first digit is an even number and the last digit is an odd number, then their codes are to be interchanged.

ii)If the first digit is an odd number and the last digit is an even number then codes of second and fourth digits are

to be interchanged.

iii)If both the first and the last digits are an even

number, then both are to be coded as the code for the first digit.

iv)If both the first and the last digits are an odd number, then both are to be coded as the last digit.

62) What is the code for “14074”?

a) %#^$W

b)##H*A

c)A#H*#

d)A*H##

e)None of these
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i)If the first digit is an even number and the last digit is an odd number, then their codes are to be interchanged.

ii)If the first digit is an odd number and the last digit is an even number then codes of second and fourth digits are

to be interchanged.

iii)If both the first and the last digits are an even

number, then both are to be coded as the code for the first digit.

iv)If both the first and the last digits are an odd number, then both are to be coded as the last digit.

63) What is the code for “20606”?

a)%!HH%

b)!H%H%

c)!H%H!

d)!%H%H

e)None of these
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i)If the first digit is an even number and the last digit is an odd number, then their codes are to be interchanged.

ii)If the first digit is an odd number and the last digit is an even number then codes of second and fourth digits are

to be interchanged.

iii)If both the first and the last digits are an even

number, then both are to be coded as the code for the first digit.

iv)If both the first and the last digits are an odd number, then both are to be coded as the last digit.

64) What is the code for “25681”?

a)A&V%!

b)!V%&A

c)AV%&!

d)AV%&A

e)None of these
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There are eight students viz. A, S, D, Q, W, E, R and T are

sitting in a straight line. Some of them were facing north and

rest faces south direction. All of them were a student of

different grades from schoolings to college. They were sitting

in such a way that their grades were in increasing order from

left to right end of the straight line. No two student studies in

the same grades.

Note: Their Grades were ranging from 1 to 9, B.E,

M.E and Ph.D. Where Ph. D is the highest grade and  1 is the 

lowest grade.

The students sitting at the extreme ends of the line face

North direction. R and E are immediate neighbours and both

faces opposite directions. W belongs to 9th grade and faces

the same direction of A, who belongs to 4th grade. Only three

student sits between A and D; both faces same direction.

Neither A nor D sits at the extreme ends of the line. S belongs

to 7th grade and sits second to the right of W. Q and T faces

same direction. E has done PhD. There is a B.E and M.E

graduates who sits next to each other. Number of students

sitting to the left of S is one year less than the grade of Q.

आठछात्र हैं अथावत। A, S, D, Q, W, E, R और T एकसीिी

रेखा में  ैठे हैं। उनमें से कुछका मुख उत्तरकीओरऔर

शेष का मुख दबिण बदशा कीओर है। ये सभी अलग-
अलग गे्रि के छात्र थे

कॉलेज के बलए सू्कली बशिा। रे् इस प्रकार  ैठे थे बक

उनके गे्रि सीिी रेखा के  ाएँ से दाएँ छोर तक  ढ़ते क्रम

में थे। कोई भी दो छात्र एक ही किा में नही िंपढ़ते हैं।

नोट: उनके गे्रि 1 से 9,  ी.ई.एमईऔर पीएच.िी. जहािं
पीएच.िी उच्चतम गे्रि हैऔर 1 बनम्नतम गे्रि है।
पिंखि के अिंबतम छोर पर  ैठे छात्रो िंका मुख उत्तर बदशा

कीओर है। R और E बनकटतम पिोसी हैं और दोनो िंका

मुख बर्परीत बदशाओिंकीओर है. W 9र्ी िंकिा से सिं िंबित

हैऔर A की समान बदशा कीओर उनु्मख है, जो चौथी
किा से सिं िंबित है। A और D के मध्य केर्ल तीन बर्द्याथी

 ैठे हैं; दोनो िं एक ही बदशा कीओर उनु्मख हैं। न तो A न
ही D पिंखि केअिंबतम छोर पर  ैठा है। S, 7र्ी िंकिा से
सिं िंबित हैऔर W के दायें से दूसरे स्थान पर  ैठा है। Q 
और T का मुखसमान बदशा कीओर है। ई ने पीएचिी की

है। एक B.E और M.E स्नातक हैं जो एक दूसरे के  गल में

 ैठे हैं। S के  ायें  ैठे छात्रो िंकी सिंख्या Q के गे्रि से एक र्षव

कम है।
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There are eight students viz. A, S, D, Q, W, E, R and T are

sitting in a straight line. Some of them were facing north and

rest faces south direction. All of them were a student of

different grades from schoolings to college. They were sitting

in such a way that their grades were in increasing order from

left to right end of the straight line. No two student studies in

the same grades.

Note: Their Grades were ranging from 1 to 9, B.E,

M.E and Ph.D. Where Ph. D is the highest grade and  1 is the 

lowest grade.

The students sitting at the extreme ends of the line face

North direction. R and E are immediate neighbours and both

faces opposite directions. W belongs to 9th grade and faces

the same direction of A, who belongs to 4th grade. Only three

student sits between A and D; both faces same direction.

Neither A nor D sits at the extreme ends of the line. S belongs

to 7th grade and sits second to the right of W. Q and T faces

same direction. E has done PhD. There is a B.E and M.E

graduates who sits next to each other. Number of students

sitting to the left of S is one year less than the grade of Q.
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65) Who among the following studies B.E?

बनम्नबलखखत में से कौन B.E का अध्ययन करता है?

a)R

b)T

c)D

d)Either R or D

e)Cannot be determined

66) How many students sit between S and R?

S और R के मध्य बकतने बर्द्याथी  ैठे हैं?

a)One

b)Two

c)Three

d)More than three

e)None

67) Which of the following statement is true?

बनम्नबलखखत में से कौन सा कथन सत्य है?

a)R sits to the immediate right of D

b)T belongs to 6th grade

c)D sits second to the right of E

d)None is true

e)All are true
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68) What is the position of S with respect to D?

D के सन्दभव में S का स्थानक्या है?

a)Immediate right

b)Third to the right

c)Second to the left

d)Immediate left

e)Third to the left

69) How many students face North?

बकतने छात्रो िंका मुख उत्तर कीओर है?

a)One

b)Two

c)Three

d)More than three

e)Cannot be determined

70) How many digits in the number “76498381”

gets repeated if the digits which are less than 5 is

added by 1 and the digits which are more than 5

is subtracted by 1?

सिंख्या "76498381" में बकतने अिंक दोहराए जाते हैं

यबद 5 से कम अिंक 1 से जोडे जाते हैं और 5 से अबिक

अिंक 1 से घटाए जाते हैं?

a)One

b)Two

c)Three

d)More than Three

e)None
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There are seven members in a family. All are interrelated to each other. H is the only brother of S. S is the only aunt

of N. N is the only daughter of X. M is the mother-in-law of X, who is the sister-in-law of S, who is unmarried

person.K is the paternal grandfather of A. एक पररर्ार में सात सदस्य हैं। सभी एक दूसरे से जुडे हुए हैं। H, S का इकलौता

भाई है। S, N की इकलौती मौसी है। N, X की इकलौती  ेटी है। M, X की सास है, जो S की बसस्टर-इन-लॉ है, जो अबर्र्ाबहत है।

.K, Aका दादा है।

71) How is A related to M?

a)Son

b)Nephew

c)Niece

d)Grandson

e)Granddaughter

72) If S has a daughter V, then how is V related to  H?

a)Daughter

b)Nephew

c)Niece

d)Aunt

e)Granddaughter
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Point P is 5 m south of Point Q. Point R is 4 m east of Point Q. Point S is 3 m north of Point R. Point S is 2 m west

of Point T. Point U is 4 m south of Point T. Point V is 3 m west of Point U. Point W is 2 m south of Point V. Point W

is 3m west and Point Y is 2 m south of Point X. ब िंदु P, ब िंदु Q के 5 मीटर दबिण में है। ब िंदु R, ब िंदु Q के 4 मीटर पूर्व में है।

ब िंदु S, ब िंदु R के 3 मीटर उत्तर में है। ब िंदु S, ब िंदु T के 2 मीटर पबिम में है। ब िंदु U, ब िंदु T के 4 मीटर दबिण में है। ब िंदु V, ब िंदु

U के 3 मीटर पबिम में है। ब िंदु W, ब िंदु V के 2 मीटर दबिण में है। ब िंदु W, 3 मीटर पबिम में है और ब िंदु Y, ब िंदु X के 2 मीटर

दबिण में है।

73) What is the distance between Point P and  Point Y?

a)5 m

b)6 m

c)4 m

d)7 m

e)Cannot be determined

74) In which direction is Point Q with respect to  Point W?

a)North

b)North – east

c)South – west

d)North – west

e)South
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There are seven student viz. V, Z, C, N, M,
X and B. Each has exam on different days of a
week starting from Sunday to Saturday but
not necessarily in the same order. Each scored
different marks. Not more than one has exam
on the same day and not more than one has
scored same marks. Z has exam either on first
day or last day of the week. X doesn’t have
exam in one of the days after Wednesday. Z
scored more marks than V. Number of
students having exam before M is as same as
the number of students having exam after M.
M either scored the highest mark or the
lowest mark among them. Only two students
scored between X and B, who has exam on
Monday. The one who has exam on
Wednesday scored least marks. X scored more
marks than N, but less marks than Z. N has
exam in one of the days after Thursday. V
scored 4th highest mark and there is only
person scored between X and V. The person
who has exam on Tuesday scored more marks
than the one who has exam on Friday. Three
persons have exam between Z and C; C has
exam in one of the days before Z.

सात छात्र हैं अथावत। र्ी, जेि, सी, एन, एम, एक्सऔर  ी।

प्रते्यककी परीिा रबर्र्ार से शबनर्ार तकसप्ताह के अलग-
अलग बदनो िं में होती है लेबकन जरूरी नही िं बक इसी क्रम में हो।

प्रते्यक ने अलग-अलगअिंक प्राप्त बकए। एक से अबिककी एक

ही बदन में परीिा नही िंहोती हैऔर एक से अबिक ने समान अिंक

प्राप्त नही िं बकए हैं। Z की परीिा या तो सप्ताह के पहले बदन या

अिंबतम बदन होती है। X की  ुिर्ार के  ाद बकसी एक बदन में

परीिा नही िं है। Z ने V से अबिकअिंक प्राप्त बकए।M से पहले

परीिा देने र्ाले छात्रो िंकी सिंख्या M के  ाद परीिा देने र्ाले

छात्रो िंकी सिंख्या के समान है। M ने या तो उच्चतमअिंक प्राप्त

बकए या उनमें से स से कमअिंक प्राप्त बकए। X और B, बजसकी
सोमर्ार को परीिा है, के  ीच केर्ल दो छात्रो िं नेस्कोर बकया।

 ुिर्ार को परीिा देने र्ाला व्यखिस से कमअिंक प्राप्तकरता

है। X ने N से अबिकअिंक प्राप्त बकए, लेबकन Z से कमअिंक प्राप्त

बकए। N की परीिा गुरुर्ार के  ाद बकसी एक बदन में है। V ने
चौथा उच्चतमअिंक प्राप्त बकया हैऔर X और V के  ीच केर्ल

एकव्यखि नेस्कोर बकया है। बजसव्यखि ने मिंगलर्ार को

परीिा दी है, उसने शुक्रर्ार को परीिा देने र्ाले से अबिकअिंक

प्राप्त बकए। Z और C के  ीच तीनव्यखियोिंकी परीिा है; C की
परीिा Z से पहले बकसी एक बदन में है।
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There are seven student viz. V, Z, C, N, M,
X and B. Each has exam on different days of a
week starting from Sunday to Saturday but
not necessarily in the same order. Each scored
different marks. Not more than one has exam
on the same day and not more than one has
scored same marks. Z has exam either on first
day or last day of the week. X doesn’t have
exam in one of the days after Wednesday. Z
scored more marks than V. Number of
students having exam before M is as same as
the number of students having exam after M.
M either scored the highest mark or the
lowest mark among them. Only two students
scored between X and B, who has exam on
Monday. The one who has exam on
Wednesday scored least marks. X scored more
marks than N, but less marks than Z. N has
exam in one of the days after Thursday. V
scored 4th highest mark and there is only
person scored between X and V. The person
who has exam on Tuesday scored more marks
than the one who has exam on Friday. Three
persons have exam between Z and C; C has
exam in one of the days before Z.
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76) How many students have exam between X and  B?

X और B के मध्य बकतने बर्द्याबथवयो िं की परीिा है?

a)One

b)None

c)Two

d)Three

e)More than three

77) Who among the following has exam on Thursday?

बनम्नबलखखत में से बकसकी परीिा गुरुर्ार को है?

a)Z

b)X

c)C

d)V

e)N

78) Which of the following combination is true?

बनम्नबलखखत में से कौन सा सिंयोजन सत्य है?

a)Thursday – C

b)Wednesday – N

c)Monday – B

d)Tuesday – V

e)Sunday – M
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79) If B and V interchanged their exam schedule,  then how many 

students have exam after B?

यबद B और V ने अपने परीिा कायवक्रम कोआपस में  दल बदया, तो B के

 ाद बकतने छात्रो िंकी परीिा है?

a)One

b)Two

c)Three

d)Four

e)More than four

80) Who among the following scored the fifth least  marks?

बनम्नबलखखत में से बकसने पािंचर्ािं स से कम अिंक प्राप्त बकया?

a)N

b)X

c)Z

d)C

e)V
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